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Classify the discontinuitics (if any) for the given function
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The function has a removable discontmuity at v = !
The Tunction has o jump discontinuity al s = 0 and 2

The function is continuous for ail A

The function has an infinite discontinuily at x = 2

The fundtion has a temovable discontinuity at v = | )(‘9(7# %W-FO() ’%CA)

Question 4

Give the values of A and B for the function [(0) to be continueus ab bothi v = Land v = 0
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al

h)

c)

d)

e)

\/'.(’ i 5 A
- L define the mnetion f{ r) af. | i a0 that it hecompes continuous at ||
_&z\t SR 5
2 =
FUT) 5 L | &

. 1 - , : - -
< Now ﬁ\\) WE o i we o, ‘F()\):-—&L
Notb possible hecause there Is an infmile discoutinmty =t the given pont —UA'Q/V\ ASL \3 CGM(\

F(11) = 8 Q\WU\L

1y o

Question 6

20f15

05/07/2015 04:15 PM



05 (6X)
wsk(64)= s

Print Test ST be> https://assessment.casa.uh.edu/Assessment/Print...
IimL "EA\ Sﬁqu%} = ’Q :@
o0 cot{6.r) >0 0&5(6¥) K

6
a) 5
b) 0
C) The Himit does not exist.
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6
e) 1
Question 7

Given f(r)  Tw? 3 which of the following oxpressions will represent I (>
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Question 8

Determine the values of the constants B and € so that the lunction given bclow is differentiable.
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o . {B=27,C— —18}
a - {B- 54,0~ 18}

e . {B— —27,C — 36}

Question 9
For g(z) — 2 | 3 sin(z) | tm( 2), find g ( )

2
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Question 10

Calculate the derivative of the given function f(x) = 2sin”(/2) O/W)Jh_, Y(Ah_
A ~
N )
2 (SN
F

frn 5 cos(+/iz)
a) fi(z)= NG \ /
by o f'(2) = 10 cos(y/T) 10 (SW\(\\Y)) Cos () - Z\R
o 5sin* (/1) cos(y/z N
c) f(z) = NG _ gsw\u(5<> 005(&)
o 2SR cos(vE) X
_ NG

e) - f'(x) = 10sin’(/7) cos(y/T)
Question 11 @ S[OF’Q @ ?oﬂ,@h
Find the equation of the tangent line for f(z) = 2tan(z) at » = /_’i
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Question 12 9 [(l/@»f’% éH'B‘ 3 (?(“5>

Find the equation of the tangent line to the curve at the point (3, —3) given 2? + a2y + 24° = 18.
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Question 13

A 13-foot ladder 1s lecaning against a vertical wall. If the bottom of the ladder is being pulled away from
the wall at the rate of 7 feet per sccond, at what rate is the area of the triangle formed by the wall, the
ground ancl thc laddcr changing, in square feet per sccond, at the instant the bottom of the ladder is

T Ay %@
- 8 ) 50& £ X ak (\2,5)
833
b) —2—0 — b /7_'_ ‘2 é;‘f
= 3o (wk_ 33>
833 | - 5
d) __1—(—)—
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Question 14 7 : a Eé— .
A man standing 13 feet from th hase of a lamppost casts a shadow & feef long. If the man is 6 feef tall

and walks away from the lamppost at a speed of 450 feet per minute, at. what rate, in feet per minute,
will the length ol his shadow be changing?
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Question 15 e b

L
Determine if the function f(z) = 3v9  x® salishes the Mean Value Theorem on [0, 31. If so, find all

numbers ¢ on the interval that satisfy the theorem. {"(V\Ck C s %k —QCQ_) _ -G(b) _ﬁ )

s (
a) c= _%2\/2 and SV F?O(> EW aV\O\ "‘\1(00 “3 Y‘
Hm:%}-—

mg_

b) The Mean Value Theorem doeas not apply to this funetion on the given interval.
33 = Tt . sf( w 7%1 =3
C) o 5 P 3'\—0
2 \H\CL
—34/2
d) c= ki

e) =10 Q Aq‘(:z’ i (‘2 C’) QZ q\(‘/l)

Question 16 ﬁ « Q, _ C{‘ ) 9 86 _%,6
Find the intervals on which [(xz) L’/1+J§6 decreases. DC+) X&'R . C- T?—{z;(-%
PR
F?()Q\ (X'T%) A S ‘FX_ M_ =0 Ce(oQ)
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*F(X? =zx —{b. CPJEO() =0, X=& [ = urtin| numhs

™~
b)  (—o0,00) /? — \&_{_’__1_' = ‘OCA\ mn

c) (6, 00)

518)=bi- 12§15 = 5T > s mi
LW =6 —oubs max.
@ (o0 OUBo)) Luo)=[00-Ibot5= ~65
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Question 17

d) (—o0, —6) U (0, 6)

Find the critical numbers of f(z) = 7% — 162 + 5 and classify all cxtreme values given 0 < z < 10.

a) Crilical no. 8 and 10; local max f(10) = f(8) = —55.
b) Critical no. 0; local max f(0) = 5.
c)  Critical no. 8; absolute max f(0) = 5; local and absolute min f(8) = —59.

d) Critical nos. 0 and 8; local and absolute min f(8 ) = —59; absolute max f(10) = -—55. -L

=5 (xt2)5 x-—~~c><+rz— =
e) No critical numbers, no extieme valucs , ? )f/ ( T ) J]\J( ) O( 0&25
Question 18 — ‘&QD{\)—C )Wt\) es X= a

Describe the concavity of the graph of f(r) (1. -+ 2) and find the points of mﬂcctlon (if any).

Wl‘ ﬁ(OWn

— e

a) concave up on (—00, 0)); concave down on (U, 0o); pt of inflection (0, 0. '_f‘(ﬁ_f—f —2

b) concave down on (~00, —2); concave up on (—2, 00); pt of inflection (—2,0).
) concave up on (—00, 00); no points of inflection

d) concave up on {—00, 2); concave down on (2, 00); pt of inflection (2, 0).

e) concave down on (—Oo, oc) no points of inflection

Question 19

Y
Given the graph of fl(ﬂ:) below, where is f(2) decreasing? :> .F (X)< O
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a) f(z) is decreasing on the interval (—4, ).

p) . f(z)is decreasing on the intervals (oo, —4) and (1, 7).
¢) - [{) is decreasing on the intervals (-4, 1) and (7, o).
d) - f(z)is decrcasing on the interval (4, 7).

e) - f(z)is decreasing on the interval (_M

Question 20

@ Ver(;i?ﬂ( QQY}V\'.

FTOO=>pa Vwples k=g
= =t
> x=-3

Byorizontal aspn
R
X %/ 5

; 2
Find the verlical and horizontal asymptotes of f{z) = T d
4
a) vertical asymptote: i ; no horizontal asymptote.
) 4 . 2
b) vertical asymptote: ¥ — — EJ; ; horizontal asymptote: y — 3-
) ) 4 ) .
c) - vertical asymplote: © = — —5- ; horizontal asymptote: y = 0.
2 4
d) vertical asymptote: @ = ,—%- ; horizontal asymplote: y = -~ .
3 Y
¢) no vertical asymptote; horizontal asympfote: y
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Question 21 JJ(% )b)\% QA b

[

Suppose that f(z) = is differentiable and has an inverse for 2 > 1 and f(3) = - Find

O e S e

()™ tSh oL

a)

YL~ 77— -£
b) ?7_ "? ) ( > NS»_ 3 /7
) - -g
-
e) - ?1
Question 22 y (‘LX/L’

PR

Ditferentiate: y — 2 I(;mdua— ‘6 ZQ 'TZX ((LX > Q.

a) Y =e!" +8a%! ~2Q + {65(?’ (FX

By - 20“”:“' | &M&(X) &M ((X‘YD (X“l )/77(3)
¢y =2e' 4 2pghs ~2LQJ/‘\ X—{\)‘(*/Y‘QM(X_{)—ILB-Q/V‘ (X)

d) y = 2eb7

e) =2e!" 4+ 1622 /O( . 2(27(> T__L —‘-7
——Queston 23 9oy~ X K-) Q/
~ 1) b,

Caleulate the derivative by logarithmic differentiation: g(ir) = (1 | l) (z

t;\
o

a) g'(v) = <_1,2 -+ 1)2(_1, — 1)7;1;3<m221 : n - i : + %) 80() [X“(\ 7("{ )( <XT|) )('l})é
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() = 4z T3
© gy = +1 x-1 =z
N e du 7 3>
d) g(z) = (:n" ! 1) (z —1) :1;"( — - - -l——)
x” -1 a— 1 T
() 41 ' 7 } 3
® gim) 2?1 =1 2

Question 24

5
. ¢
Differenhate Y - ar(‘sm_(-_2 )

5 — 1 - _3:.)
: w— (93‘1
\'4 _ pllz =
N Be' T -
) vid eltlw - b
5 2 I — (;CE’
c) —L l E)L
\/4 P[UJ e/;)(
o Beh g - ‘g
1 el - =g%
{ L ell q' q_(&) QL{_ Q,D ‘
10e®#
e) m
Question 25

erentiate the given function ¥ = (cosh(7 x))". Q}/\g' x _9,{/\ (CO:;.\/L/?X))

a) o (cosh(7 )’ (ln((osh(‘T.z')) + ;;gﬁ) gé \;QM(&)SI/MX)>+ X o hUX }Co MW)Q)

. . 7
b) o (sinh(72))" | In(cosh(72)) + ——5—=
) cosh(7a)
7sinh(7x
) (cosh(7 )" | In(cosh(7 —————bm (72)
cosh(?m)
7o sinh(7z)
d)y -/ (cosh(7a))' (]n (cosh(7a)) + ——————:(:;(l,;:;) )
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e (sinh(72))" (ln(sinh(h-)) | B.E&MZQ)

sinh(7z)

Question 26

A rectangular playground is to be fenced off and divided into two parts by a fence parallel to one side
of the playground. 480 feet of fencing is used. Find the dimensions of the playground that will enclose

the greatest total arca.
N@wtwv\ck m ;X4
a) 130 by 90 feet with the divider 130 feet long® COM;MM K 3)(‘(‘2.(3, = % .
~ & 3%

b) 115 by 85 feet with the divider 116 feet long %»_ > .

) 120 by 120 fect with the divider 120 foct Iong@ X> 0 \ % >0 \ .
X

_ SH X xS
) 120 by 80 fect with the divider 80 feet long @“Z()q:xg— ’—_X % 2. = + .
— 3
e) 140 by 90 feet with the divider 90 foct long [/ =2UoX Z,x
Question 27 FS: OQ: 7(./#0 N BX
%(x):o \Mphej X=&0"

o g =~

. : - ¢ 1/4
Use differentials to estimate e v

, T e 15
o1 O F0O= \(# , Foo=gx7
160 GTh:(E(%'
w o wm a=lb
5 2 Bpn=—02

5
; - "L E
I & (5§ = fise) T (1b) 4{1{,@% |
Question 28

a)

e}

. 3
Calculate the limit:  lim (COS (——

a)

b)

c)
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e) 3
Question 29

= Max.

1 1
respect o Lthe partilion P = [—1

Compute th€ wpper Rieman) sum for the qiven function f(2) = 2° over the interval © & [—1,1] with
13
P T Ty T T 1
44 4
21 &A\o(vd?mw&
16

|

W‘V\r
. A
¢ ’\ - 1
b 91 (S

96

-

R R
(
w Cw

2 b=
+ R
T U S L o
b om L] 7

7> Upper L

=)
g 1]
Question 30 SUW\ % \4 l ’t =

W =
The graph of f is shown helow on the interval [—3, 2).

The area bounded between the graph of f and the -axis on [

12 of 14

ool
3.0 21
. .Y
hotween the graph of f and the »-axis on [—2, 1} is —, and the arca bounded between the graph of f

F

—, the area bounded
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and the z-axis on |1, 2 is l(} Determine L;f(l) de. = T - I—t‘ E
= _U_ 1 “+ L’-—

11 -
a) = (D =2 %
b 19 - - £
) 3 G

5
c) - -6
d) 0

49

e) —

6

Question 31

/
e sin(a / r — - =
Find the derivate of F{x) = / . V25 —t?dr . F(X} - (XS”’KX)) ' \J %—(XS”\(X))
0

= &?\(@*XC‘EOﬂJ YE—X SN

a) \/25 — z(sin(2))?

b) (sin(z) + ;ITCOS(JZ))\/QS—.BQ(Sin((U))g
c) (sin(z) | wcos(z))\/25 =°

2 sin(a)

d) -

2

y 25 — 2°(sin(z))”

e) V25 — 2°

Question 32

Evaluate the definite integratl: / Ha (.1;3 -+ 1) dx
—

L —

o (R u=xE L duspeoe s Aoy

a)

: ;ﬂ\‘ Olq _’9\ B {/\2' 5\
o 27 g 5w = 5 fdu - £ L |
S — 2 [ 52 :E ~0;l;
4 Fls-2]=5 2
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d) 40
. 128
% 3

Question 33

Calculate the indefinite integral:

1
a) 4 sinh(r) + b r»r
b) 4 sinh(r) + Z) oo
. 1,
) 4 sinh(z) 17 +(

: 1
d) 4 sinh (i) + 5 e

e) . 4dsinh(x) + 327 +

Question 34
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/( 4 cosh(: )-l—z )d.r

W
4Stnh(>0 & z T

[§] b
Calculate: / 91 (21 + . ) dx

Q1 ez « du=6xdx 91—%0\)(

a) 4
3
4 2.0t
b) -
l%
. K
¢ 8 Ot
4 2
} M3
7
e) 3
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